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brnvnuyonpoc

YUCen C pasHbIMU 3HaKaMPREAS
» Yemy paBHa cymMMa npoTUBEHO!
4yncen?



YCTHO

e -4+ 19 -8-12  -6*%(-111) -42=+6
¢ 7+11 21-39  12%*(-3) -48+ (-4)
e -16+16  -13—15 -9%*(-3) 0+ (-13)
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BbinonHuTe A4encTBUSA

a) 5%(-8)+(-4)*(-2)-(-7)*3;
6) (-24+78+12-46)*(-13);
B)(-36+18)*(85+(-21)*4);
s[9)((-15)*(-3)+55)*(-84);
N)(-16)/(-4)+(- 51)/3
E)(-18+32-144)/5;
)((-7)*35+23)/6;
3)(-76-38*(-15))/(-13)



[lomallHee 3agaHue.
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NomaluHas pabora:
1) (-23-(-49))/(47-68);

2) (-42-24)/(18-51);

3) 72/(-22-14);
4)-99/(-28+61);
5)75/(-25)+186/(-62);
6)-576*(958-179+242-824)/32




